L

0
00
Rl
00

ol
—

O] SH|El2| T2

<0
]!l
ofl

A

I.

|

Iib)

| 522|a#0IH, o B

9

1

elao= T

tOH, 1€ 2[C 2022|147}

5}

| Bi2to] BS0| afet 23| ZA5H0{0}

D_

20 Z2|1A0|C} (202t At20| M 202 1Bt DEHS &

| 5Y2[1H ~

=)

1

ol
=2

l=1

ETh

oo

ol

Hyoz 2

= 2| =S80 T2t 7Y

Y

ACH) FO01EE2 7H7He| SHAtolAM &

(o]
H.

ot

on

N[0

ot

HOF ST

)

=Lt S5 UFH 20| 0] of 20mg FHA| 2tE3| 2

=]

O
L

—
1o

Lt,

Le MA—

OFOFO
BAZE 12 2|0{0}

2717t LERR] ©f

EE

kil

Elo
A M= 417

EENPNS

=
[

tel B0

5}

2t 1 Child-Pugh 47t 70|

3}
Child-Pugh @47t 8

=
e

b

5. ¢

tC}

S
—

=
o

3t

S
—_

FACE. Ol

1o

S7t

Child-Pugh @47t 92 Z1tot=

=Lk

Y z27| 82 522[2™O0|C}. 4022

of, &

Of|A| O] efe| MAl=E0| S7t5t7| WE

=
=

a2}

6. QI : OFA[OFA|

812

t

S
—

7| g2 52=|140|C} 0]

7. 28300 Z22|7] 2|2 &2 2ES0| 27| 22



